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I-ong anstver questions.
Attenrpt any T!\./O questions.

Sectiorr.\

Short ausu,cr o uestiorr s.

Altenlpt an1.f IGtIT qui.1j,,11..

St,,:lie.n R

4' Find the GCD of 12 andr6 using Extended Euclidean Argorithm.

5. Using mathematical induction show that 2 + S +B + .... *-(3n _

lLl

t--
Full Marks: 60
Pass Marks: 24
Time: 3 hours.

candidates are recfitired ta give their cut,vv,et's irr their own yyords cts _for as practicable.The figures in the margin indicate full n-rarks.

(8 x5:r{0)

Isl

a \ n(3n+7\L) = -- l5l

}J

(2 x10:20)

6 Slitll sllrl.t t'irle and pl'oduct rLrle. If 26 irtegc,rs are cliosen fi.onr tire set olcorsectili,,.e ilregers {1, 2,.-1"50]'piLr''ethatthereare sLlretob..trrr.,i;i.,bsrsroinuro,eisniultipleofthe-tr:i..-i. 
12,3]

7' 
:J::iiiSnrllllrer 

anci-ioin oi,:.:'aiion btrrieen Boolean marrixes. \\/har are the vatries cr._( \1(;D 7

i: -- jl
8' Defi,e chrr:nlatic ntttnber' IJori'cioes Ki'iiskal's alqoi'ithm fi,d Minimun span,ing Trer ? [1 -r 4]
9 ' Solve the recurrellce relatioit 3;, : 3.-, * ? 3,,-r *'ith i,itial conciitions *,ith ao : 2 ancl ar : 7. [5]
10' what is netu'orli f'lorl'? Gi'e an exatrple o1-satu.ateci edge, u,satLrrated ecige a,d slack. L2 + 3l
1 1' when do t'e ttse permrttatictt rathe' tha, cornbinatio,? F{ow iiiary, 5 ciigii *r-r'rbers cerr [.e

;;:3""0 
using tlte digits 0 to 9, if each ,ur,ber starts'rvith gg and no digit appears more rria,

t5l
l2' Define sttbset arrci po*'er set' I'io*'cio -r'oir llr'o\r!: co'rectness c1'recru.si'e aigoiiti.:i, usir,.. [nductior?illUStrnie u iiit arr e\atri;_.!q. 

- -' r' !!r'rLr) ' :r I Lutli 5i\ C algoi rijlill 

l: l]

1 . Jast i;r;,, fcur rules of inferences. Using direct and indirect proof show t!qr, for any real number x, Ifxl- 7x2 +>i_7:0,trrenx=2. -vr'rbs,vvro.u,rurrtrotpr 

[4+3+3]
2l' what are the necessarl" and suft'icient conrlitions for graprrs to have Euler path onry and Eurercircuit? Let R be a relation def-ined on set of natural n*b.r, N, such that a, b e N- a i< it is! -2k, rvhere k e {0, 1, 2, ...--} . shorv thar R is a partiar ordering reration on N. r, l'; 

1i ir ;+ 

t 
=

3'7 Detemline rvhetherthe,functiorl (x): x -l- from set of integers to trre set of integers is injecti'e,v surjective or bijecti'e' write ,l* il;, of fuin ryro "p*rri.rs witrr their definirions. Give the floorand ceiling value of i.2 and _1.2. 
*,t4 + 4 + 2 j
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